1R 128 B iz
R iRRTD L 2]

PR-25CUZ% 5l

E : S 3| [ACCURACY
INISTE [u10 51| BT\

ATk

M12“A¥R" 2 EERE. ,’

v R TRAa SRR, B ER
v BRE316LAFENIPEMINT
v ggsﬁiﬁ!ﬂiiﬁﬁiﬂﬁ, R ERBEBEER
v ERBRT{ERE: -50~250°C
(-58~482°F)
EIEEE: -50~85°C (-58~185°F)
v MRt iE (BEME) : 6%)ikF|63.2%,
5315 F50%, 11F4i%F]90%
[TERE H0.91K(3")/FEIAH]

A . &
v L\3gIMiE B #E5~500Hz(E, ZEEIARIE &
F ) £ T3 E RN ($13H150mm & PR 26CUA-3100-A-1/4 1200 M12,

56" B LA AT EE 3 48) R

XFRTDER SR B IE— 1 i,
i A R BT AT RN R 2 )
RE— AN EFRIHERIEE, En
NZRfE B4, iRERERE .

X F o Beg JLF A0 B i i
MBI AT, BB BEEHH
g%mﬁﬁﬁw,ﬁ—ﬁﬁﬁﬁﬁ

M1 2% 12 83 A B F 2R 0 b AR {4t
A ERERE. AJLUTMAT RS y
£, BTLTRELTRRES L

HORK: Voo %% NPT. iR 7L E——
HHEM8X1FIM10x1 RAIRLL A A ' ey
HIER K

. S

LAl

> Pt100

|<—1 75" —>|

0.5" M12CM-T24SSPC-SF-2

o |<—1 .25"—>| M, AR,

e ERMATIRS
PRNERE o

M12CM-T24SSPC-RF-2
B, ARMmHE.

AtM12MEESR IR, BRX
BEFRR .

C-1




PR-25CUA PR-25CUD ': NPTR 8841
BREKE | 388 ©16.7 | Rk | 35.3
S r LA mm,t “-53)41 08 (é%g)_‘ “'39’4‘
- : [ 1] m [
a4’ M12X1 g
PR-25CUB » NPTZ 35884 B NE 96" AfMBE
46.2
WK ' (;35)7 PR-25CUE M8x1 R %184
18.2 10.6
‘{ ' ((1)351421?2) R 10.1 29.9
a (0.40) | 1 _'I
|
VeI NPT 7/8" AR DR MBX 1425 1/2" A FhIE
PR-25CUC % NPT 4eMRal PR-25CUF M10x15 32884
nch) 10.1
Q: (0.40)
3/8-18 NPT
M8X 18247 1/2" XfafinEE
. . PR-25CUH
- RAKE - - '
(1.88) ) e ) 403 ____,
‘ 079 = ‘ ‘ RARE 89
0.59)[—
! n‘ || -
O I
SHRESH? 27 mm X ff b G1/4 BSPP 16 mm T L
i
1T TE P
£l i
PR-25CUA-3-100-A-1/4-0600-M12 | EiprE, A%, 100 Q, BERYW", 6", M12 %S
PR-25CUB-3-100-A-1/4-0600-M12 | &', NPTRIEELGWEINE, A%, 100Q, HE%", K6",
MQAEE%
PR-25CUC-3-100-A-1/4-0600-M12 | #5% NPTREBUMEINE, A%, 100Q, HEEY%", 6",
MmAEE%
PR-25CUD-3-100-A-1/4-0600-M12 | #', NPTREBUMEINE, A%, 100Q, HEE%", 6",
MmAEE%

B6 LIS B, 1B R B HAT“-0600" BRI A FTERIKE, KF6'HIES F3TEHIERH, (FF: 18"=1800).
B6HJ1000 Q RTDITE, 1EH#EEHEI“-100”"E 2 25“-1000”,

MIBLRIT1E, iEH“-A"EH B,

BB 1R %6 " BIRSL, BB R 1/4" B 5 “-3/167, T ESITE5M 2.

iTITB: PR-25CUA-3-100-A-1/4-0600-M12, E{Z4". #K6"HIERL, Pt100, AZITHE, HEMI12, EHSHIEIAE.
PR-25CUB-3-100-A-1/4-0600-M12, 5 NPTZRIBLKEFE, AL, 100 QEE", 16", M124\EH#H#S.

2l

s i AA

PR-25CUE-3-100-A-M6-M150-M12 | FEM8x1 R EELYMEIFE, A%, 100 Q, EfE6 mm, 1150 mm
M12/ 2

PR-25CUF-3-100-A-M6-M150-M12 | §M10x1 REBYEINE, A%, 100 Q, HE6 mm, 1150 mm
M12/ 22

PR-25CUG-3-100-A-M6-M150-M12 | GLRBAMNEIFE, A%, 100Q, EfE6 mm, {150 mm
M12/ 22

PR-25CUH-3-100-A-M6-M150-M12 | HiGuLEEBAMNEIFE, A%, 100 Q, HE6 mm, 1150 mm
M12 iEESR

AHI150 mmELSP IR B, B5 RS HRT“-M150" B A BTERIRKE, KF-M15089885, 21 F (18908 FH.
M BE124.5 mmBJIRSL, iEHESHRT-M6”EX 5“-M4.5”, T F (188 FH.
iTHTB: PR-25CUE-3-100-A-M6-M150-M12, #HM8x1ZF#IEXHIEIFE, A, 100Q, EIE6 mm, 150 mm, M124\EHES.
PR-25CUE-3-100-A-M4.5-M150-M12, #HM8x1ZEIELGRIEIFE, A, 100Q, EHIF4.5mm, #€150 mm, M122\E#ES.
C-2




